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1. Why is energy from the wind and sun referred to as “green”
energy? ‘
A. Because it causes less harm to the environment.
B. Because it is usually found in green areas of the countryside.
C. Because it changes the air temperature.
D. Because it produces cooler weather.

2. According to the article, what is one way that wind power
generation-can affect weather patterns?:
A. Wind turbines attract stronger winds to wind farms. -
B. Wind turbines cause temperatures to drop, especially at night.
C. Wind turbines attract more water vapor to wind farms.
D. Wind turbines cause winds to lose some of their energy.

3. According to the article, which answer best explains how solar and

wind farms can cause rain?

A. They cause lightning and thunder, which rise up and can then
cause rain, '

B. They make the air warmer, which rises up and can then cause
rain. ‘

C. They make the air cooler, which rises up and can then cause
rain,

D. They cause huge waves, which rise up and can then cause rain.
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4. How is climate related to weather?

A. Climate describes what the weather is like over a long period
of time in a specific area. : : :

B. Weather describes day-to-day changes, while climate describes
weekly changes.

C. Climate is the state of the atmosphere where the weather stays
constant over several days. - ‘

D. Weather is the combination of temperature, humidity,
precipitation, cloudiness, and climate.

5. Why did Kalnay ask Safa Motesharrei to help her in her research?

A. Because Kalnay needed a partner who had connections with
scientists in other countries. o

B. Because Motesharrei worked in Maryland rather than in China
or Italy.

C. Because Kalnay needed a partner who understood how to
investigate complex systéms. |

D. Because Motesharrei was already doing research on the effects
of solar and wind farms.
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6. Why did Kalnay, Motesharrei, Li, and their team of researchers

choose to use computer models? -

A. Because using computer models was the only way that the
effects of solar and wind farms could be reliably investigated.

B. Because, even though building large solar and wind farms
would be less expensive, they might cause other problems.

C. Because the members of the international research team would
be unable to agree where to build large solar and wind farms.

D. Because usingvcomputer models was less expensive than
building large solar and wind farms and would avoid
unexpected problems, '

7. According to the article, what are two ways wind and solar farms
- in the Sahel could benefit local people?.

A. Wind and solar farms could provide needed jobs and attract
more people to the area. ‘

B. Wind and solar farms could provide electricity and bring water

. needed for farming.

C. Wind and solar farms could provide electricity and provide
needed jobs in this area.

D. Wind and solar farms could bring water needed for farming
and attract more people to the area.
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8. According to the article, which of the following statements is true?"

A. Solar farms increased temperatures at night, but they did not

- - affect the amount of average rain per day.

B. Solar farms increased temperatures and the average amount of
rain, but their effect is less-than that of wind farms.

C. Using both solar farms and wind turbines decreased
temperatures, but they increased the amount of average rain
per day.

D. Wind turbines increased temperatures mostly during the:day,
and they also slightly increased the average daily rain.

9. According to Rebecca Hernandez, what is a problem that could be

caused by bringing more rain to desert areas? |

A. Local plants which grow in desert areas would start invading
other areas. \

B. The number of wild animals in desert areas would increase,
which would harm desert plants. - | ‘

C. The number of plants would increase, which would damage
solar panels and wind turbines. - .

D. Animals which live in desert areas might lose their supply of
food. ' o
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10.

1.

According to the article, what would be the advantages of wind and

solar farms in cities and towns? - .

A. They would be easier to build and maintain because there are
already many people living in urban areas. :

B. Even though they would harm the environment, they would
provide jobs and electricity where these are needed.

C. Tliey would cause less harm to the environment and would
provide energy where it is needed. '

D. Even though they would:not provide additional jobs and
-electricity, the harm that they would do to the environment
would be limited.

How are solar panels and wind turbines environmentally friendly?

A. They allow researchers to model their effects before actually
installing them. S

B. They change how air moves, and those winds can be converted
to electricity.

C. They produce little or no pollution compared to traditional
power plants. -

D. They can produce rain and change temperatures when

necessary.
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12. What will someone likely do if they were to “go green?”

A. Go for long walks in the neighborhood park.
Start using reusable canvas bags instead of plastic ones.
Learn how to play outdoor sports.

o aouw

Begin painting pictures of the environment.

13. Which answer would best describe the author’s opinion?
A. Although care is required, renewable energy can have benefits
- for people and the environment. -
B. Renewable energy can be cheaper and more effective than
traditional energy sources that send carbon dioxide into the air.
C. Although renewable energy might help some people in some
" areas, its use is very limited and is not efficient enough to use
in the future. .
D. Research shows that renewable energy can only be used in
desert areas and is only useful for people who live in these
areas.
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14. Which of the following is the best example of a sustainable

renewable energy source for our future?

A. Fossil fuel, such as coal, which comes from the remains of
plants and animals that lived millions of years ago.

B. Nuclear energy, which gathers energy that is generated using
materials in rock such as uranium.

C. Wood fuel, which burns wood to make fire and the energy can
be used for cooking and heating. ’

D. Biomass energy, such as ethanol, which comes from living
matter.

15. From what you have read, which answer would best explain why
renewable energy has not been more widely used around the
world?

A. The world’s economy is based on fossil fuel energy, such as
coal, because it is cheap and efficient.

B. The world’s economy is based on energy from coal because it
is better for the environment.

C. Renewable energy is too expensive, not efficient enough, and
severely damages the environment,

D. Renewable energy has been tried in many countries and has
always failed to produce favorable results.
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1. Inyour opinion, should supermarkets stop giving out plastic bags -
(Vv 24%)? Why or why not?

OR

2. Do you think that club activities (¥8¥) are an important part of high
school life? Why or why not?
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